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gz K & Bk @ 6| GR HDCP| NET | &% | |IBiz] K % |Bk tE =& GR HDCP NET | f#%
2r FEE SE | 37| 38 /5] 6.0 69.0 26 | B4 ®iE 43 | 43 86 7.0 /9.0
B BH 89T | 44 48 92 [23.0 | 69.0 27 | HE =3R40 | 48 88 9.0 /9.0
3 &F &= 39 40 /9 1 8.0 71.0 28 | &l B 49 44 93 [14.0  79.0
4 | J\i2&HA 36| 38 /74 1 2.0 72.0 29 | JBK &kt 51| 50 101 122.0| 79.0
5 &lF X 40 42 82 [10.0 /2.0 30 FREBEE | 49 48 97 |16.0 81.0
6 IR 1EfE | 38 38 /6 | 3.0 | 73.0 31 | faft 5wl | 46 | 48 94 11.0  83.0
/7 | FH I5 144 | 42 86 [13.0 /3.0 32 | f@x —3% | 47 47 94 110.0 | 84.0
8 @ RE 41 45 86 13.0 | 73.0 33 @A #Em | 48 48 96 12.0  84.0
9 EH {&Z | 42 45 87 14.0 /3.0 34 | lUH % | 46 | 54 100 16.0 | 84.0
10 | &2 ZAZ%EF 43 | 49 92 |19.0 | 73.0 35 Il E=tE | 42 | 48 90 5.0 85.0
11 B2 B 48 44 92 19.0 /3.0 36 AHX BSL | 50 47 97 112.0 | 85.0
12 | I§A 3 | 39 | 43 82 8.0 74.0 37 | BfO = 50 50 100 15.0 | 85.0
13| MR 1B8 | 47 | 44 91 16.0 /5.0 38 | @& I@F | 52 | 51 103 18.0 | 85.0
14 | BR I~ | 46 | 41 87 111.0 | 76.0 39 EX B2 51 52 103 18.0 | 85.0
15 /he&H [E 41 46 87 |11.0 76.0 40 | FE fB— 51 45 96 10.0 86.0
16 | BRER 44 | 45 89 13.0 | 76.0 41 | FaH = | 43| 53 96 9.0  87.0
17 | #EH {H— 46 | 48 94 18.0  76.0 42 | MEH EHiE 55| 47 102 15.0 | 87.0
18 | &M =X | 44 52 96 [20.0 | 76.0 43 | AR A0 | 50 | 57 107 120.0 | 87.0
19 | AF &% 38 | 41 /791 2.0 77.0 44 | |UKF F&E 46 54 100 11.0 | 89.0
20| X% HR | 45 42 87 110.0 | 77.0 45 | BiF {HIR | 52 | 48 100 10.0 | 90.0
21 | [LAE BU# | 47 | 43 90 |13.0 | 77.0

22 | KH #BH 44 | 48 92 15.0 77.0

23 | &R k| 41 47 88 [10.0  78.0

24 | K% MR 45 | 50 95 /17.0 | 78.0

25 | R ZEER | 42 | 56 98 20.0 78.0
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